15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

caribou3d

15.1. Assembly of the Bondtech MK3S
Mosquito Extruder

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 1 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 1 — Required Tools (1/2)

e (1) 1.5x60mm Hexagon Socket
Head Screwdriver for Electronic

Applications

o (2) 2.0x75mm Hexagonal
Screwdriver

o (3) 2.5x75mm Hexagonal
Screwdriver

¢
U o (4) Scalpel

o (5) Electronics Pliers

D ey

© @ ®

o (6) Pliers Wrench

e (7) Engineer Scriber

e (8) Countersink

Step 2 — Required Tools (2 / 2)

e (1) Superglue

e (2)Zip Ties

KLEBFIX GEL

M

(@)

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 2 of 18


https://caribou3d.com/en/tools/119-wera-2054-screwdriver-for-hexagon-socket-screws-for-electronic-applications-15mm-x-60mm.html
https://caribou3d.com/en/tools/118-9835-wera-354-screwdriver-for-hexagon-socket-screws.html#/147-wera_354-20_x_75mm
https://caribou3d.com/en/tools/118-9836-wera-354-screwdriver-for-hexagon-socket-screws.html#/148-wera_354-25_x_75mm
https://caribou3d.com/en/tools/272-electronics-pliers.html
https://caribou3d.com/en/tools/127-knipex-pliers.html
https://caribou3d.com/en/tools/131-engineers-scriber.html
https://caribou3d.com/en/tools/303-zip-tie.html

15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 3 — Assembling the Parts (1 / 3)

e (1) Bondtech MK3S/ MK2.5
Mosaquito Extruder

o (2) Slice Engineering Hotend

Mosquito/ Mosquito Magnum (see
manual 14.1.)

e (3) Fan Shroud (LUfterauslass)
e (4) Fan Holder

o (5) Lever

e (6) Ball Holder
@

e (7) x-Carriage

o (8) Sensor Cover

Step 4 — Assembling the Parts (2 / 3)

e (1) Radial Fan
@ (2) Sunon Fan

e (3) SuperPINDA /Pinda 2

) (2 e (4) Filament Sensor Extension
Cable

o (5) Motor Cable

©) (4) (5)

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 3 of 18


https://caribou3d.com/en/bondtech-extruders/263-bondtech-mk3s-extruder-upgrade.html
https://caribou3d.com/en/slice-engineering-hotends/24-mosquito-hotend.html
https://caribou3d.com/en/slice-engineering-hotends/25-mosquito-magnum-hotend.html
https://caribou3d.dozuki.com/Guide/14.1.+Assembly+of+the+Slice+Engineering+Hotend/78
https://caribou3d.com/en/power-supplies-fans/80-radial-cooling-fan-5v-by-ldo.html
https://caribou3d.com/en/power-supplies-fans/78-sunon-5v-40mm-x-40mm-fan-with-65cm-cable-connector.html
https://caribou3d.com/en/sensors/762-caribou-superpinda-probe-sensor-for-3d-printers.html
https://caribou3d.com/en/sensors/98-pinda-2-probe-sensor-for-3d-printers.html
https://caribou3d.com/en/plugs-connectors-cables/803-ir-filament-sensor-extension-cable-70cm.html

15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 5 — Assembling the Parts (3 / 3)

e (1) Bondtech Drivegear

e (2) Long Magnet

— Ed e (3) Short Magnet
() @) 3) 4) o (4) 7mm Steel Ball
o (5) Thumbscrew Assembly
h- e (6) Filament Sensor
(5)

Step 6 — Assembling the Screws (1/2)

e (1) 2x Black Washers
o0 g g g g o (2)8x M3 Nuts
M () e (3) 5x M3 Square Nuts
O 0 E 1 1 1 1 e (4) M2x12mm Hexagon Socket
0 - Head Cap Screw (silver)
& “) ©) (&) e (5) M3x8mm Hexagon Socket Head

o (6) 3x M3x10mm Hexagon Socket
Head Cap Screws

L1111

E Cap Screw
i
(8)

e (7)5x M3x16mm Flat Head-Head
Socket Cap Screws

o (8) M3x18mm Hexagon Socket
Head Cap Screw (silver)

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 4 of 18


https://caribou3d.com/en/bondtech-extruders/6-bondtech-drivegear-kit-175-direct-5-mm-shaft.html
https://caribou3d.com/en/sensors/101-mk3s-ir-filament-sensor-kit.html
https://caribou3d.com/en/sensors/101-mk3s-ir-filament-sensor-kit.html
https://caribou3d.com/en/sensors/101-mk3s-ir-filament-sensor-kit.html
https://caribou3d.com/en/bondtech-extruders/9-bondtech-thumbscrew-assembly.html
https://caribou3d.com/en/sensors/101-mk3s-ir-filament-sensor-kit.html
https://caribou3d.com/en/screws-nuts/731-m3-nut-50x.html
https://caribou3d.com/en/screws-nuts/115-square-nuts-m3-flat-form.html
https://caribou3d.com/en/sensors/101-mk3s-ir-filament-sensor-kit.html
https://caribou3d.com/en/screws-nuts/227-9674-m3-hexagon-socket-head-cap-screws-black-10x.html#/196-screwlength-8mm
https://caribou3d.com/en/screws-nuts/227-9675-m3-hexagon-socket-head-cap-screws-black-10x.html#/197-screwlength-10mm
https://caribou3d.com/en/screws-nuts/721-9721-m3-hex-drive-flat-head-screws-black-10x.html#/200-screwlength-16mm
https://caribou3d.com/en/sensors/101-mk3s-ir-filament-sensor-kit.html

15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 7 — Assembling the Screws (2 / 2)

o (1) 2x M3x20mm Hexagon Socket
Head Cap Screws

o (2) M3x35mm Hexagon Socket
Head Cap Screw
o (4) M3x40mm Hexagon Socket
Head Cap Screw
(2) 3)

Step 8 — Installing the Magnets (1 / 2)

G

o Open the extruder.

Q)

o Insert the small magnet into the lever.

@ If the magnet is loose, fix it with a little super glue. If the magnet is difficult to insert, we
recommend using a pliers wrench.

o Place the lever in the extruder back (the one without motor) and secure it with a M3x18mm
Hexagon Socket Head Cap Screw (silver).
e Now, loosen the screw until the lever can be moved freely.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 5 of 18


https://caribou3d.com/en/screws-nuts/227-9680-m3-hexagon-socket-head-cap-screws-black-10x.html#/202-screwlength-20mm
https://caribou3d.com/en/screws-nuts/227-9684-m3-hexagon-socket-head-cap-screws-black-10x.html#/206-screwlength-35mm
https://caribou3d.com/en/screws-nuts/227-9685-m3-hexagon-socket-head-cap-screws-black-10x.html#/207-screwlength-40mm

15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 9 — Installing the Magnets (2 / 2)

e Insert the long magnet into the slot
to the left of the lever.

& Make sure that the two magnets
repel each other.

o If the magnet is still movable in the
slot, fix it with super glue.

@ You can now test the mobility of the
lever through the opening for the
filament.

Step 10 — Installing the Filament Sensor (1 /2)

@ Take the ball holder and check the hole for filament residues. If there are any residues, remove
them carefully (e.g. with a scalpel).

o Insertthe 7mm steel ball into the holder.

o Insert the holder with ball into the top of the extruder back.
This document was generated on 2022-01-01 02:51:45 AM (MST).

© 2022 caribou3d.dozuki.com/ Page 6 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 11 — Installing the Filament Sensor (2 / 2)

o Insert the filament sensor and secure it with the M2x8mm Hexagon Socket Head Cap Screw
(silver).

e Test the mobility of the lever again.

(@) If the lever's mobility is compromised, loosen the screw on the filament sensor minimally or
check the lever for filament residue, removing it if necessary.

o Test the mobility of the lever again.

o Now, place the sensor cover on top and secure it with a M3x10mm Hexagon Socket Head Cap
Screw.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 7 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 12 — Installing the Drive Gear (1/2)

.

o Remove the hinge and shaft from the back of the extruder.

@ Align the gear (with the shaft) in the hinge as shown in Fig. 2 and press the shaft down until it
engages.

o Carefully press the shaft into position with a pliers wrench.

o Re-assemble the hinge with the shaft to the back of the extruder.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 8 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 13 — Installing the Drive Gear (2 / 2)

e Remove the shaft assembly from the front of the extruder.

o Slide the gear onto the shaft and make sure that the M2 grub screw is aligned with the flat side of
the shaft.

o Tighten the screw so that the gear can only move up and down.
o Insert the shaft assembly into the back of the extruder next to the hinge.
A Make sure that there is a ball bearing (5x8x.2.5) in the cavity for the shaft.

o Align the grooves in the gear to match the filament path and tighten the M2 grub screw.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 9 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 14 — Preparing the Front Part

o Insert a M3 Square Nut into the hole, in the center of the extruder back. Make sure that the square
nut is inside the left slot.

o Remove shaft assembly from the back of the extruder and insert into the front of the extruder.
/N Make sure that there is a ball bearing (5x8x.2.5) in the cavity for the shaft.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 10 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 15 — Installing the Hotend

e Place your Mosquito/ Mosquito Magnum Hotend built in Manual 14.1. into the back of your
extruder.

& Make sure all components are seated properly before proceeding.

Step 16 — Assembling the Front and Back Parts (1 / 2)

e Now, put the front and back of the extruder together.

o At the bottom of the front of the extruder, screw a M3x35mm Hexagon Socket Head Cap Screw
through the extruder.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 11 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 17 — Assembling the Front and Back Parts (2 / 2)

e Atthe bottom of the front of the
extruder, screw a M3x35mm
Hexagon Socket Head Cap Screw
through the extruder.

<

( _

~ TECH
42H025H-0704-002

® ®

@/

Step 18 — Inserting the Thumbscrew Assembly

42HD25H-0704-002
@ e @

o Install the Thumbscrew. Tighten the thumbscrew as much as possible and then loosen it again by
2-3 turns.

e Insert a M3 Square Nut at the bottom of the back of the extruder.

Insert a M3 Square Nut into the top left corner of the back of the extruder.
This document was generated on 2022-01-01 02:51:45 AM (MST).

© 2022 caribou3d.dozuki.com/ Page 12 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 19 — Installing the Extruder-Fan

& On the Sunon Fan, enlarge the four screw holes with a countersink and remove the cable guide.
e Plug the motor cable into the motor on the front of the extruder.
Push the motor cables into the cavity.
o Place the Sunon Fan over it and be carefull to not damage the cables.

A Pay attention to the orientation of the fan. The sticker on the fan must face inwards and the cable
must come out to the rear.

@ Attach the Sunon Fan to the extruder using 4x M3x16mm Flat Head Screws.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 13 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 20 — Installing the Radial Fan

o Insert 2x M3 Nuts into the fan holder.
e Attach the fan holder to the extruder with a M3x10mm Hexagon Socket Head Cap Screw.

Carefully attach the Radial Fan to the extruder, using 2x Black Washers and 2x M3x20mm
Hexagon Socket Head Cap Screws.

Step 21 — Preparing the x-Carriage (1/2)

o Insert 6x M3 NUtsinto the back of the x-carriage.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 14 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 22 — Preparing the x-Carriage (2 / 2)

e Insert 2x M3 Square Nuts into the bottom of the front of the x-carriage.

Step 23 — Wiring the Filament Sensor (1 / 2)

e Feed the filament sensor cable connector through the top slot in the x-carriage (Fig. 1).

o Pull the cable all the way through and insert the filament sensor cable connector (as shown in
Figure 3) into the slot until it engages.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 15 of 18



15.1. Assembly of the Bondtech MK3S M...

Step 24 — Wiring the Filament Sensor (2 / 2)

Guide ID: 79 - Draft: 2021-11-17

Y

o Now, feed the filament sensor cable through the cable guide in the back of the x-carriage.

e Finally, remove the filament sensor cable connector from the x-carriage to avoid damaging the
filament sensor during the installation of the x-carriage.

This document was generated on 2022-01-01 02:51:45 AM (MST).

© 2022

caribou3d.dozuki.com/

Page 16 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 25 — Installing the x-Carriage (1 / 2)

o Place the x-carriage on the back of the extruder.

& Be careful not to damage the filament sensor cable.

Step 26 — Installing the x-Carriage (2 / 2)

@ At the top right, the x-carriage is fastened with a M3x40mm Hexagon Socket Head Cap Screw.
At the top left, the x-carriage is fastened with a M3x10mm Hexagon Socket Head Cap Screw.

Plug the filament sensor cable onto the sensor.
& Make sure that the plug snaps into place.

This document was generated on 2022-01-01 02:51:45 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 17 of 18



15.1. Assembly of the Bondtech MK3S M... Guide ID: 79 - Draft: 2021-11-17

Step 27 — Installing the z-Sensor

o Insert the pinda into its mounts and fasten it with a M3x16mm Flat Head-Head Socket Cap
Screw at the level of the nozzle.

e Plug the cable of the radial fan into the mount provided on the right side of the extruder and guide it
to the x-carriage.

e Run the cable along the extruder (as shown in Fig. 3) and secure it with a zip tie.

Step 28

(@) The assembly of the Extruder is
completed now.

@ Continue with instructions 16.1
Installation and Wiring of the
Bondtech MK3S Mosquito Extruder.

This document was generated on 2022-01-01 02:51:45 AM (MST).

© 2022 caribou3d.dozuki.com/ Page 18 of 18


https://caribou3d.dozuki.com/Guide/16.1+Installation+and+Wiring+of+the+Bondtech+MK3S+Mosquito+Extruder/82

	15.1. Assembly of the Bondtech MK3S Mosquito Extruder
	Written By: Katja Aller
	Step 1 — Required Tools (1 / 2)
	Step 2 — Required Tools (2 / 2)
	Step 3 — Assembling the Parts (1 / 3)
	Step 4 — Assembling the Parts (2 / 3)
	Step 5 — Assembling the Parts (3 / 3)
	Step 6 — Assembling the Screws (1 / 2)
	Step 7 — Assembling the Screws (2 / 2)
	Step 8 — Installing the Magnets (1 / 2)
	Step 9 — Installing the Magnets (2 / 2)
	Step 10 — Installing the Filament Sensor (1 / 2)
	Step 11 — Installing the Filament Sensor (2 / 2)
	Step 12 — Installing the Drive Gear (1 / 2)
	Step 13 — Installing the Drive Gear (2 / 2)
	Step 14 — Preparing the Front Part
	Step 15 — Installing the Hotend
	Step 16 — Assembling the Front and Back Parts (1 / 2)
	Step 17 — Assembling the Front and Back Parts (2 / 2)
	Step 18 — Inserting the Thumbscrew Assembly
	Step 19 — Installing the Extruder-Fan
	Step 20 — Installing the Radial Fan
	Step 21 — Preparing the x-Carriage (1 / 2)
	Step 22 — Preparing the x-Carriage (2 / 2)
	Step 23 — Wiring the Filament Sensor (1 / 2)
	Step 24 — Wiring the Filament Sensor (2 / 2)
	Step 25 — Installing the x-Carriage (1 / 2)
	Step 26 — Installing the x-Carriage (2 / 2)
	Step 27 — Installing the z-Sensor
	Step 28


